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QUESTION 1

Which of the following privileges do you need to activate views? 

Please choose the correct answer. 

Response: 

A. SELECT option on the _SYS_BIC schema 

B. SELECT option on the _SYS_BI schema 

C. SELECT option on the _SYS_REPO schema 

D. SELECT option on the _SYS schema 

Correct Answer: C 

 

QUESTION 2

You are using continuous system replication between SAP HANA systems in two separate data centers. 

What are the advantages of this scenario? 

There are 2 correct answers to this question. 

Response: 

A. The take-over happens in less than 3 minutes. 

B. Database changes are continuously updated to the secondary site. 

C. The take-over only requires a roll forward since the last synchronization point. 

D. Memory and CPU are used on the secondary site for shadow processes. 

Correct Answer: BC 

 

QUESTION 3

Which of the following do you add when you "scale out" SAP HANA? 

Please choose the correct answer. 

Response: 

A. Data storage 

B. Memory 

C. Servers 



D. CPUs 

Correct Answer: C 

 

QUESTION 4

Which of the following update scenarios can be selected for execution in the SAP HANA lifecycle 

manager? 

There are 2 correct answers to this question. 

Response: 

A. Apply support package stacks 

B. Update SAP HANA replication technologies components 

C. Update SAP HANA lifecycle manager (HLM) 

D. Update the SAP HANA studio on local machines 

Correct Answer: AC 

 

QUESTION 5

Which combination of authorizations is required for this user? 

Please choose the correct answer. 

Response: 

A. USER ADMIN, SERVICE ADMIN, DATA ADMIN 

B. USER ADMIN, CREATE STRUCTURED PRIVILEGE, RESOURCE ADMIN 

C. USER ADMIN, SERVICE ADMIN, ROLE ADMIN 

D. USER ADMIN, CREATE STRUCTURED PRIVILEGE, ROLE ADMIN 

Correct Answer: D 

 

QUESTION 6

You have to implement disaster recovery for an SAP HANA production system. You also want to use the 

secondary SAP HANA appliance for development and testing. 

The data centers are more than 100km (60 miles) apart; the network capacity between them is restricted. 

Which disaster recovery option would you implement? 



Please choose the correct answer. 

Response: 

A. Asynchronous system replication with continuous memory loading 

B. Synchronous system replication with continuous memory loading 

C. Asynchronous system replication with shadow processes 

D. Synchronous storage replication with shadow processes 

Correct Answer: C 

 

QUESTION 7

When is the administration editor in SAP HANA studio opened automatically in diagnosis mode? 

There are 2 correct answers to this question. 

Response: 

A. When the index server service is restarted 

B. When an SQL connection is not available 

C. When the sapstartsrv service is not running 

D. When the system is restarting 

Correct Answer: BD 

 

QUESTION 8

Which of the following tools can you use to create and manage SAP HANA database users? 

There are 2 correct answers to this question. 

Response: 

A. SAP Solution Manager 

B. Microsoft Active Directory 

C. SAP Netweaver Identity Management 

D. hdbsql 

Correct Answer: CD 

 

QUESTION 9



Your SAP HANA usage scenario does not require SAP HANA XS. 

What do you have to consider before you remove the SAP HANA XS service from the configuration? 

There are 3 correct answers to this question. 

Response: 

A. All applications using the SAP HANA instance must be stopped. 

B. User adm is required to remove the SAP HANA XS service. 

C. A data backup must be taken after the SAP HANA XS service has been removed. 

D. The SAP HANA XS service must be removed from all hosts of the SAP HANA instance. 

E. The user privileges for accessing SAP HANA XS must be revoked. 

Correct Answer: ACD 

 

QUESTION 10

Which authorization error do you troubleshoot using the Authorization Dependency Viewer? 

Please choose the correct answer 

Response: 

A. SQL processing error (256) 

B. Invalid user privilege (334) 

C. Invalidated procedure (430) 

D. Transaction error (128) 

Correct Answer: C 

 

QUESTION 11

You execute an authorization trace in the SAP HANA studio. Where can you review the outcome? 

Please choose the correct answer. 

Response: 

A. In the result screen of the trace configuration. 

B. In the indexserver trace diagnosis file. 

C. In the authorization dependency viewer. 

D. In the monitoring view M_SERVICE_TRACES 



Correct Answer: B 

 

QUESTION 12

You need to create a role that allows read-only access to the tabs of SAP HANA Administration Editor. 

Which of the following privileges do you need to assign to that role? 

There are 2 correct answers to this question. 

Response: 

A. System privilege SERVICE_ADMIN 

B. System privilege CONTENT_ADMIN 

C. SQL privilege SELECT for the SQL object SYS_STATISTICS 

D. System privilege DATA_ADMIN 

Correct Answer: CD 
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